Probability, Permutation, Combination Name %9\'

REVIEW
Algebra 2 Block Date

1. Given the three letters W, H, and O:
a. List all the permutations of these three letters using two at a time.

et Hw Ow (G)
b. Lis&la\r}h combinat\iisQf these(;}'ejletters using two at a time.

Wt Z/

2. 1n a class of 25 students how many ways can three students be picked, 1 to be a team
leader, 1 to be a recorder, and 1 to be a reporter? ’P

D>

3. There is a variety pack of a dozen different donuts sitting on the kitchen table.
picks 4 donuts to take to work. How many ways can he do this?

2Cy = [AG>

4. Dr. Zweistein has 14 students in a physics class. Over the course of the year, Dr.
Zweistein would like to arrange the lab groups so that every student has the opportunity
to work with every other student in groups of two. How many different two-person lab

groups are there?
&S

5. The Rails Club, a group of 25 train fanatics, is to choose four of their members to be on
the Board of Directors.
a. How many different possible boards could the Rails choos

b. How many different po;ﬂe boards could
Vice Chair, Treasurer, and Secretary?

27y = U3, @

6. At a burger specialty restaurant, the toppings options are catsup, ayonnaise, mustard,

' tomatoes, onions, lettuce, mushrooms, Swiss cheese, cheddar cheese, steak sauce, and
guacamole. If you can choose between a 4-0z burger or a 6-0z burger and want a mix of
4 toppings, how many different burgers can you order?
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7. For a particular lottery, the winning numbers are selected by a machine that randomly
chooses 5 table-tennis balls from among 45, numbered 1 to 45. The lottery pays off if you
match 5, 4, or 3 of the numbers.

a. What is the probability that you will m
/f_ 45 C ), 2) \ 15‘%

b. How many different winning number cornblnatlons are there? (A}Y\Q&ﬂg NS ‘OSian

5C'6 + = C_LL 6C5 HOCZ_

c. Whatis the probabmty at you WI" match exactly 4 of the 5 :
5CH H[‘)C t Q.O D
8. Two fair coins are flipped. 4, (..,5 \ﬂ—fl I 34601

a. List all the possible outcomes of this experiment.

HT  HA
™ T7T

b. What is the probablllty that one coin lands heads and the other one lands tails?

¢. What is the probability ¢oins land tails?

d. What is the probability coins.land heads?

9. In any given situation, when all the possible choices are considered, what do all the

probabilities have to add up to? Why?
POSG e QUHEMES

10.A class has 24 students, 14 girls and 10 boys. Three students are randomly selected to

represent the class at a teachers’ meeting.
a. What is the probability that there are 2 girls and 1 boy selected?

uCzri0Ch _ L}@%}/DD@M.&J&JB
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b. What is the probability tha%'all thrée students selected are boys?
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11, Suppose you roll a die then flip a coin.
a. Draw a diagram that would represent this situation. List the sample space for this

situation. H
| ~<,r p=_
2 <”V S /H

. What is the probability of m!hng a 5 on the d|e ii!i T ds on the coin?

o
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¢. What is the probability of rolling a 5 on th{: dle@ethng heads on the coin?
L - s =\
$ o DS - .
. What is the probability of gettlng tails on e) @" elther a3 'rr a 4 on tregie?

o
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e. What is the probability of getting a 5 on the die and a GZn the d?D

12.Find the number of 5-card hands that are possible if you want...

a. 5 face cards C
D
b. 1 ace and 4 cards that are not aces
C g O

c. atmost1 queen

CI°Lﬁ§G—1 *“%C‘i‘ [

d. 4 kings and 1 pther card

)
e. 5 hea ,;r C:"-f 665 cr 20@\6(}9\ :@

f. at Ieast 1 spade
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13.Assume you have 8 red beads 12 blue beads in a bag and you will be drawing 3
beads from the bag| one at a time Wt.
a. Make a tree diagram that represen is situation an IED | each branch with the
probabilities of the outcomes. .2 Q
4
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b. What is the probabili

C. Wh%the ggaaal:il' \ Of drawi
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d. What is the probability of exactly 2 being the same color?
(‘BCZ' \7_C| + 12C2° 8C :\ (zocb\ '

e. What is the probability of drawing two red given'the fact that youy first bead drawn

wasblue?(PCZQ[_ﬂ%\: %”%

14. A bag contains 20 marbles, 8 white, 10 blue, and 2 red.
a. If one marble is pulled from the bag, what is the probability that it is white?

o

b. If one marble is pulle@from the bag, wi he probability that it is red?

c. If two marbles are pulled from the bag Twith replacement), what is the probability
that both marbles are blue?
JQ -3 lQ = )" o 3—' —
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d. If two marbles are pulled from the bag (without replacement), what is the
probability that both marbles are blue?

0.9
20 19




